Fall 2008 answers.

 1. Element,  2. compound,  3.mixture  4. P   5.  C   6  P    7  C

8.  D   9. A   10. C   11.  B    12.   C    13.  A     14  D    15  E   16.  A  

17.  E   18.  C   19.  C    20.  C    21   C     22.   C    23.  E

24.  B    25.  C   26.  A    27.A     28.   D

Mg  +  2 AgNO3   (  Mg(NO3)2   +   2  Ag

Mg  +  2 Ag+    (  Mg2+   +   2 Ag 

2 C2H6   +  7 O2(   4 CO2   +   6  H2O

d)  coefficients are 1, 3, 2 and 3 respectively

e  HNO2   +  OH-    (  H2O   +   NO2-
I.  34.87 grams   II.  .0500 mol  Al,  0.0500 mol O2   so the Al is limiting. 

The moles of Al2O3  produced are 0.0250, which is 2.55 grams.

0.0125 mol of O2 remains. 

III.   The nitrate ion,  NO3-  is present.  


75% yield

IV. 1.726 grams of hydrogen,  8.274 grams of carbon,  C2H5   30.34 grams of CO2
   molar mass is 58.

V.    

[image: image1.wmf]         B.   29  protons   37 neutrons   27 electrons

VI.   A.  0.100 mol    B.   0.0400 mol    C.   2.00 molar    D.  50.0 mL

EC  1.    K+   and  NO3(      2.   4.19 g
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